8TA 2492: CREDIBILITY THEORY AND LOSS MODELS
J 8) Youare given that the annual number of claims for an insured has probabulity function

p(x)-(i )q'(l-q)"'x-o,l.z,s.

The prior density is x(q) =2q 0<q<l

A randomly chosen insured has zero claims in year 1. Using Buhlmann credibility, -
L ]

estimate the number of claims in year 2 for the selected insured. [Smarks]

—

b)  Compound Poisson distribution has A = 5 and claim emount distribution amount distribution as

bX "P(x)
100 0.8
500 0.16
1000 0.04

Calculate the probability that aggregate claims will be exactly 600,

(5 marks)
c) Fora portfolio of policies, you are given

I4

i) The annual claim amount on a policy has probability density functios i

, " : ’, " o
f(%)= % 0<x<o '

i) The prior distribution of & has density function x(8) = 46°
iii) A randomly selected policyholder had claim amount g'l_ tn year 1.

0<O<«li1

Dcu:rmincdneBuhlmmucdibilityestimueofthcclu’mmml‘adcademdpoiq'- ye.l/

-/ d) The total claims for two policyholders are given below.

Year
Policyholder 1 2 3 4
X 730 300 650 700
Y 635 630 623 750

Using the Nonparametric Empinical Bayes method, determine the Buhlmana credibility premium for the
policyholder Y,



